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SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.
All questions carry equal marks.

Each answer should not exceed 30 words.
1.  Show that every non-singular square matrix has a
unique inverse.
ealbeurm enapuiler ggy Samils@n seflseflwimer
Crlrdlr ojanfl 2_ar(h erer blemial.

2. Compare the merits and demerits of the
elimination method and iterative method in
solving linear algebraic equations.

@@ ugssTaT Qudsails FwAaLTHSEREE Sey
sraudled Bssd (e, QT saflliy wpepmsafien
Beitenlo Senoganer Uil (.

3.  What are the disadvantages of bisection method.

@\ gam permudler GepmUT(HSET Wreneu ?
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How will you solve differential equation by Euler’s
method?

I (pepmuiled eUMEECIS(Y FLOETLITL g M cTeUemm)

S smewrumi?

What is the difference between interpolation and
extrapolation?

Qe Fgmad WPons@Gh LpwHiSid wpandHELD
o arem Coumim(p) erevmen?

What is meant by truncation error in

interpolation?

Qe sbsmad wperpuied Geul (M eny erermmed
GT6UTEOT?

Explain the principle of least squares fit.

LEZ QUM mI& 6 6o QurpSsed penmudler
& glousHener allendd.

What are the desirable characteristics of metrics
used for curve fitting method?

cuenerGamige) CUMmSHIHD (WPanSEGL LwerL(Hb

Qi M&@asefler Hplidueyser wrene?
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10.

11.

12.

Mention two practical applications of Simpson’s
rule for numerical integration.

erewramt CsransssTaTaIsH@GLl LwerL(Hb Siblievefler
el lufler @rett(H BenL_(PenDLI LILIETUT(HSEETE Fnm)s.

State Trapezoidal rule to evaluate .[ y(x)dx.

Xo

jy(x) dx erenrm CgrenssasTama)sE L LweaTUHID Fileus

Xo

elluflenerrs snmis.

Find the inverse of the following matrix
cosa sina

sina cosa |

&ECip Qar@&siiulc_(Herer Sianfl&@ Cr@rdm
iawtlullenesds smeirs

cosa sina
sina cosa |

Write the formula for Newton’s forward
Interpolation scheme.

Bl L atlenr wppCums@ @& Cemad wpenm&smen
GEATSDS TWSS.
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13.

14.

15.

16.

17.

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.
All questions carry equal marks.

Each answer should not exceed 200 words.

Explain the principle of Gauss-Jordan method.
srev—CemrLmer (penmudlen sSgIeuSSenar eNlemd@s.
Define the operators E and A, and derive the
relation between them.
Qewedser E wpmibd A <pdlweindinE euarwenn sms
Cogyid jeummlim &enCuiwmen GQgm_mieners sms.
State and explain linear regression.
@M uUgsster UatCamse orenen  eTamUms  dnl
oNleTE G5
Explain Newton’s backward interpolation scheme.
Bl Laflear GarCamé@ Qe sbamae wpanmuldlaner
oNleT& .
Write down the procedure for finding the
approximate root by bisection method.
@m samepepuler eumulens pLSMSE  HTEDILD
pepmudlene eT(LpGIs.
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18.

19.

20.

Explain Horner’s method of solving an equation of
the form f(x)=0.

f(x) =0 eranmp gwarumiqh@ Srey srewriLweTLHLD
ammieniler (pennullener cllemdss;.

Describe Simpson’s rule for evaluating an integral.
Qgrenss  sasSlignE — Lweu®n  Sblievefer
cllHuldlenar afleurl.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.
All questions carry equal marks.

Each answer should not exceed 500 words.

Solve the following system of equations by Gauss-
elimination method

X, tx, =2

3x; —10x, = 3.
&G Qar®ssliul_(Herer goearur@seiier Qgm@ludne
srev BEs0 Wpenmulled Sirey Sredr.

X, txy, =2

3x, —10x, = 3.
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21.

22.

23.

Solve the following equation using Newton-
Raphson method

sinx=1-x.
Bl Ler-prievefler peopews vwearu®ss SCup
Qam(H&sLILL(DeTer FGTUTL 14 H(E ST STewTs

sinx=1-x.

The following data represents the function
f(x) =e*. Estimate the value of f(2.25) using

interpolation. Compare with the exact value.
X 1 1.5 2.0 2.5

fx): 2.7183 4.4817 7.3891 12.1825
&G  Oarhssiul(Hearer eramodlliiyser  f(x) = e”
ererrm &mrenLd GMadlemmer. f(2.25) —ulen wdliGaner
@anL_F6Fma (LPeOPUID SHTETS. SET 2 GHTenLOW M6
wHLGUTH lbd(Hs.

x: 1 1.5 2.0 2.5

fx): 2.7183 4.4817 7.3891 12.1825

1

Evaluate the integral I= .[ % using
X
0

Trapezoidal rule. Choose h =0.25.

dx
1+x

1
sflous  alFulleneans vweTL(HSS I=.[ TG
0

Qgrenslamens samsd(Hs. h =0.25 orar r(hHdHH
Qameira.
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24.

Find the least squares straight line fit for the
following data :
x: 1 2 3 4

y: 1.7 1.8 2.3 32
ECp Qasrhssiiul (herer sreysamerts  LwatU(BSS
B&Slm eurss pevpuller CrrCsmenL Lt QUT(HSEIs.

x: 1 2 3 4

y: 1.7 1.8 2.3 32
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